77y vai®F (1HEoph§)
LR )& B
® 7 X 3 = 21 @ 5 X = 35
@ 0 X 8 = 0 @ 6 X = b6
@ 7 X 6 = 42 ® 8 X = 56
@ 5 X 3 = 15 ® 9 X = 2]
® 2 x 3 = 6 ® 0 X = 0
® 9 X 6 = 54 ® 3 X = 3
@ 7 X 1 = )/ @ 9 X = 81
® 4 X 6 = 24 ® 6 X 9 = 54
@ 0 X 2 = 0 ® 5 X = o
W 4 X 9 = 36 @ 2 X — 8



77y vadt®E (1HEorl§)
SRESERE 1N
@ 7 X 1 = J/ ® 5 X = 20
@ 3 x 3 = 9 @ 1 X = 3
@ 8 X 3 = 24 ® 1 X = 2
@ 5 x 7 = 35 0 X = 0
® 1 X 9 = 9 ® 9 X = 63
® 6 X 4 = 24 7 X = 35
@ 6 X 9 = 54 @ 4 X = 28
2 X 5 = 10 8 X = 48
@ 2 X 2 = 4 3 X = 21
4 x 3 = 12 @ 1 X = 1



77y vadt®E (1HEorl§)
SRESERE 1N
® 9 X 5 = 45 ® 8 X = 96
@ 2 X 6 = 12 ® 0 X = 0
® 5 X 1 = 5 ® 0 X = 0
@ 1 X 3 = 3 4 X = 28
® 9 X 9 = 81 ® 5 X = 40
® 5 X 2 = 10 5 X = 35
@ 1 x 7 = 7 ® 0 X = 0
2 X 9 = 18 3 X = 6
@ 2 x 5 = 10 2 X = 4
3 X 1 = 3 @ 5 X = 30



77y vaiF (1HEopi§)
O E( )8 B
® 6 X 2 = 12 9 X = %4
@ 9 X 7 = 63 @ 3 X = 15
® 7 x 2 = 14 ® 8 X = 24
@ 0 x 1 = 0 6 X = 94
® 9 X 9 = 81 ® 1 X = 3
® 2 X 4 = 8 6 X = 42
@ 5 X 1 = 3) @ 8 X = 56
0 X 2 = 0 3 X = 18
®©@ 7 x 5 = 35 1 X = 4
O X ] = 35 @ 9 X = ]2



77y vaitFE (1HEorHE)
SRESERE 1N
@ 2 X 1 = 2 ® 5 X = 15
@ 4 x 6 = 24 ® 8 x 8 = 64
@ 6 X 8 = 48 ® 9 X = 81
@ 3 X 2 = 6 9 X = 2]
® 3 X 6 = 18 ® 9 X = 45
® 4 X 3 = 12 9 X = 18
@ 2 X 5 = 10 ® 8 X = 48
1 X 9 = 9 7 X = I
©@ 1 X 6 = 6 3 X = 21
0o X ] = 35 @ 4 X = 16



77y vadt® (1HEoriR)
O E( )8 B
® 2 X 9 = 18 ® 9 X = 2]
@ 5 X 3 = 195 @ 7 X = 96
@ 9 X 8 = 72 ® 4 X = 32
@ 3 X 9 = 27 1 X = 6
® 9 X 4 = 36 ® 1 X = 9
® 9 X 6 = 54 8 X = 40
@ 7 X 6 = 42 ® 1 X = 1
9 X 7 = 63 1 X = 9
© 5 X 4 = 20 5 X = 40
9 X 5 = 45 @ 8 X = 16



77y vadt® (1HEoriR)
O E( )8 B
@ 1 X 1 = 1 2 X = 10
@ 1 X 6 = 6 ® 4 X = 8
® 9 X 6 = 54 ® 3 X = 12
@ 2 x 2 = 4 3 X = 6
® 9 X 2 = 18 ® 2 X = 6
® 1 X 4 = 4 7 X = 63
@ 6 X 9 = 54 @ 5 X = 20
7 X 4 = 28 2 X = 14
® 5 x 8 = 40 1 x 2 = 2
6 X 3 = 18 @ 0 X = 0



77y vaiF (1HEopi§)
O E( )8 B
® 8 X 2 = 16 3 X = 195
@ 2 X 1 = 2 @ 7 X = 28
® 6 X 1 = 6 ® 2 X = 14
@ 6 X 4 = 24 3 X = 21
® 0 x 1 = 0 ® 8 X = 24
® 6 X 3 = 18 3 X = 18
@ 1 X 9 = 9 @ 8 X = 96
0 X 4 = 0 9 X = 2]
®© 0 X 6 = 0 5 X = 25
4 x 8§ = 32 ® 4 x 6 = 24



77 v a2zt (1Hkori§)
EARE N
® 7 X 9 = 63 @ 5 X = 25
@ 2 X 2 = 4 ® 6 X = 12
@ 9 X 7 = 63 ® 6 X = 30
@ 9 X 3 = 927 4 X = 32
® 0 X 2 = 0 ® 0 X = 0
® 7 X 2 = 14 4 X = 36
@ 8 X 2 = 16 @ 4 X = 20
8§ X 7 = 56 2 X = 12
@ 0 X 3 = 0 3 X = 2]
7 X 7 = 49 @ 2 X = 14



77y vaiF (1HEopi§)
O E( )8 B

® 2 X 4 = 8 2 X 1 = 2
@ 4 X 71 = 28 @ 9 X 8 = 72
® 9 X 6 = 54 ® 7 x 7 = 49
@ 4 x 3 = 12 ® 3 x 6 = 18
® 6 X 4 = 24 ® 5 X 1 = 5
® 3 X 5 = 15 ® 2 X 5 = 10
@ 0 x 1 = 0 ® 4 x 2 = 8
® 2 X 7 = 14 ® 5 X 9 = 45
© 9 X b5 = 45 ® 1 X 9 = 9
W 0 X 6 = 0 @ 6 X 2 = 12



